DAILY BASIS ASSIGNMENT

Date:29.04.2020 Class: Vi Day: Wednesday

Subject : English

Read the following passage carefully and answer the questions that follows
THE PRISONERS

Thus we sat for some time in deep silence. Soon after, we heard footsteps at the entrance of
of the cave, and immediately our jailer entered. We were so much accustomed to his regular
visits, however, that we paid little attention to him, expecting that he would set down our
meagre fare as usual and depart. But to our surprise, instead of doing so,he advanced towards
us with a knife in his hands, and going up to Jack,he cut the thongs that bound his wrists. Then
he did the same to Peterkin and me! For fully five minutes we stood in speechless amazement,

with our freed hands hanging idly by our sides.

From the given alternatives, choose the best choice as your answer.
(a) Where were the author and his friend imprisoned?
(i) Rocks (i) Jail

(iii) Room (iv) Cave

(b) Why did they pay scant attention to their visitor?
(i) They were accustomed to his regular visits
(i) They were accustomed to his irregular visits
(iii) They were unaccustomed to his rare visits

(iv) They were accustomed to each other

(c) What did the visitor carry with him?
(i) arope (ii) an axe

(ii) aknife (iv) a pistol



(d) What unexpected action did he show?
(i) He hugged them (ii) Ate food along with them
(iif) He tied them up tighter (iv) He cuts the thongs that bound their wrist

(e) The word 'thong' means
(i) narrow strip of leather (if) narrow strip of wool

(iii) narrow strip of cloth (iv) narrow string of canvas

Subject: Maths

1. is called additive identity.
A1
B. -1
C. 0
D. 10
2. If a+6 =1 then, a=?
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3. What comes before 1000000

A. 99999
B. 999999
C. 9999999
D. 9999990
4. Which of the symbols are never repeated?

A V,X&C
B. V,X&D
C. V,L&D
D. LK&C
5. The smallest 4-digit number with four different digits is

A. 1230
B. 1320
C. 2103



D. 1023

Subject: Physics

MULTIPLE CHOICE QUESTION( Select the right option):--

1.0ne centimeter on a scale is divided into 20 equal divisions.The least count
(minimum value) of the scale is
a) 20cm b) 1mm ¢) 01mm d)0.5mm

2.Which of the following motions is/are periodic as well as oscillatory motion?
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a) (i), (ii) and (iii) b) (ii) only c) (iii) only d) (i), (ii) and (iv)3. Which of the
following statement is correct?

a) Motion of soldiers on march past is a periodic motion.

b) Motion of a train along a curved track on hills is an example of curvilinear motion.
C) Every periodic motion is also an oscillatory motion.

d) Hockey player running after a ball is a combined motion.

4.Which of the following statement is incorrect?

a) Motion of an vehicle is not a rectilinear motion

b) Motion of honeybees is the example of random motion.
C) Cubit is the length of an forearm.

d) Centigrade is not an unit of temperature.

5.Motion of strings of a guitar shows :

(i) oscillatory motion b) vibratory motion (iii) random motion (iv) rotational motion

a) (i) and (ii) b) (i) and (iii) c) (i) and (iii) d) (i) and (iv)

Subject: Chemistry

Multiple Choice Question (MCQ)

1. Athingthat can be seen and touched is called an .............
(@) Felling
(b) Thought
(c) Object



(d) Honesty

2. The matter of which an object is made is called

(a) Atoms
(b) Molecules
(c) Materials

(d) Object

3.

In order to understand objects around us, it is necessary to clarify them in to
(@) single

(b) Double
(c) Groups
(d) Separate

4. The sorting of objects in to groups with each group having its own characteristics properties, is
............... of objects.

(a) Filtration
(b) Evaporation
(c) Classification

(d) Sedimentation

5. All the living objects need
(a) Wood
(b) Food
(c) Stone
(d) Smoke

............... , water and air for their survival.

Subject: Biology

Multiple choice questions :

1) Materials required for preparing a dish

a) Nutrient b)Substances c) Ingredients d) Minerals

2) Which of the following is considered as body building foods?



a) Proteins  b)Vitamins  c)Fats d) Carbohydrates

3) Our body prepares which type of vitamin in the presence of sunlight?
a) Vitamin A b)VitaminB c)Vitamin C d) Vitamin D

4)  Which of the following nutrients is not present in milk?
a) Protein b) Vitamin C  c) Calcium  d) Vitamin D

5) Starch is a kind of
a) Fat b)Carbohydrate c)Protein d) Vitamin

Subject: S.S. T

Q. Multiple choice question[MCQ]

1. What is an Orion?

a. Constellation b. Star c. Planet d. Moon
2. Jupiter is the planet.
a. Smallest b. Largest c. Thinnest d. Oldest

3. Plutois now a

a. Bigger planet b. Smallest planet c. Dwarf planet d.
Existing planet

4. is a gaseous planet

a. Mercury b. Mars c. Jupiter d. Earth

5. Which planet is known as the ‘evening star’?

a. Venus ’ b. Jupiter c. Saturn d.. Earth
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Subject: Computer

Multiple choice questions (select the correct one):-

1. Example of First generation Language is:
a) Assembly



b) Machine
c) Natural
d) None of these

. Example of Second generation Language is:
a) Assembly

b) Machine

c) Natural

d) None of these

. Example of Third generation Language is:
a) HTML

b) JAVA

c) FORTRAN

d) None of these

. Example of Fourth generation Language is:
a) HTML

b) BASIC

c) FORTRAN

d) None of these

. Example of Fifth generation Language is:
a) Assembly

b) Machine

¢) Natural

d) None of these
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